
ANSWERS – VOLUME2: STRESSES, STRAINS, DISPLACEMENTS 
Chapter 2, Bar Subject to Extension       problem 2.28-1/2, page 62 
 

Last update: 11-10-07 

Remarks:  See §2.3, pages 24 till 26 
See §2.6, pages 34 onwards 

 
Answers 2.28-1:  
 
a.    AB 50 kNN = + BC 40 kNN = + CD 60 kNN = +
b.     AB 1 ‰ε = BC 1,25 ‰ε = CD 0,75 ‰ε =

c.    AB 0,4 mmΔ = BC 1,0 mmΔ = CD 0,45 mmΔ =
d.  1,85 mmΔ =

 
Answers 2.28-2:  
 
a.    AB 25 kNN = + BC 20 kNN = − CD 40 kNN = +
b.     AB 0,5 ‰ε = BC 0,625 ‰ε = − CD 0,5 ‰ε =

c.    AB 0,2 mmΔ = BC 0,5 mmΔ = − CD 0,3 mmΔ =
d.  0Δ =
 
 
 
 
 
 

 
 
 
 
Explanation 2.28-1/2:  
 

AB 350 10  kNEA = ×  
BC 332 10  kNEA = ×  
CD 380 10  kNEA = ×  

 
 
 
 
 
 
 


